
 Quiz 46   

SBU 2020                                                                      Lesson 46 (quiz)   

 

1) You are defending, and at some point declarer leads A from dummy.  

 Which card should you play? 

 a)  A74  b)  A8  c)  AK5 

    62    762    8742 

  ____________  ____________  ____________ 

 d)  AKQ9  e)  A1094  f)  A42 

    10432    K6    J1098 

  ____________  ____________  ____________ 
 

 

 

 

2)  AK2 

 972 

 KJ1098 

 Q7 

  North  South 

  -  1NT 

3NT  Pass 

 You are East, defending a contract of 3NT by South on this        

auction 

West leads 4.  

Declarer plays 7 from dummy and wins your 9 with A 

How many HCP has West? ____________ 

Who has K?   ____________ 

Declarer continues by playing Q from his hand.  

Partner plays 5 and you duck. 

Now declarer plays 3, partner plays 4 and dummy any 

diamond 

How many diamonds has partner? ____________ 

And how many has declarer?  ____________ 

You win A.  

How many Sure Tricks does declarer have now?  ________ 

How many tricks do you need to defeat 3NT? _______ 

Which suit could they come from? ____________ 

Can you write down a hand for declarer   ________ 

which means you can defeat 3NT?   ________ 

(approximately)      ________ 

        ________ 

Which card should you play now?  ____________ 

 N 

W      E 

S 

 Q1075 

 1053   

 A72 

 953 

   

 


